
Sequence Alignment Answers

Correct alignment shown below 
with the correct mutated base number highlighted

ATGTTCTCCAG

TTCT
AGTCCGGA ACTAA

AAA

CCAGTCC
ATATGTTACTAA

ATGTTGTCCAGTCCGGAAATATGTTACTAA
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30



ATGTTCTCCAG ATATGTTACTAA
AGTCCGGA ACTAA CCAGTCCTTCT

AAA

ATGTTGTCCAGTCCGGAAATATGTTACTAA
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

1. Cut out your sequence reads (blue)
2. Align your reads onto the reference genome (red), 

remember some sequence reads may overlap!
3. Find the base number where the mutation is
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ATGTTCTCCAG ATATGTTACTAA
AGTCCGGA ACTAA CCAGTCCTTCT

AAA

ATGTTGTCCAGTCCGGAAATATGTTACTAA
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

1. Cut out your sequence reads (blue)
2. Align your reads onto the reference genome (red), 

remember some sequence reads may overlap!
3. Find the base number where the mutation is
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